\

0F = [ERRERAL TS,

B WD i A
S & A H
R4, 4ot A
(AFNE BT FEREEBHE
gAREICKREREIRBEEZEMLET .
AXBEEEAR. SUBETICIRELTESLY,
X IpEH—ERIEHSE
HEFEDINE
fn A B ff "TE EXH A B ff TEE |[1AstvommE| JEXH
K 15HiE 6 FbrFYT 3ke 10e10ek02 | 3
vin %
BIE ZFH 1.65¢ " 1kg 1 1
& %
*#9 Tkg 2 2 rRAEa21—L 3kg 14 B5.0g
INEY 1kg " 1kg 2
REH 1kg 8 FALRARTII—R 3ke " 200g 2
15 1ke 1 n kg 1
L&D 400g 1 FAREZ—Y)—R Tkg n 1.0g 1
& %
fHL—$ 400g 1 " 600g 2
i X
S EE 1.0%% 1 " 200g 1
& X
A= 7—LBERT(3Y 500g 1 0 FTUSALYAZ 3ke n 30g
s &
( ’/ —\ " 1kg 1
| EELEL3IELTEXTHBAFLTHEERERALTIEN,
LEVH 720ml n 20g 1
CGEXENMTATDNESELREELDIEEDHEZEDT-O) A
\_ , " 300ml
/ S

( RARNEGHCTIZ, EXAEMB AL I

CE)1. EELAHHIGRIEHEERZRAL., FXHMICITELSIV-HEZRAL TS,

2. FEXHGEVE R LRI T oE - ERBERAL TS,




